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Three exclusions are written LRI R b ke

Overview

¥"7 maintains that in a case where two people carry out an object which neither of
them could carry it out alone; they are both 19, because the 7N wrote! amwya
(when s/he does it [in the singular]), one person is 21, but if two do it, they are 7v».
The X713 then cites a Xn>°72 where in the aforementioned 2105 there are three limiting
words nnX ,wol, and 7nwya (each in the singular). The last exclusion in the X072 is
where 9127 1°X 711 9127 19X 7371.2 Our moon discusses the language utilized in our X773,

mooIn responds to an anticipated question:
= 3999 XN PIVOAY PINK VIYIN NINY DIVN 7511 290 NHH2L NMYYI VPIT NI

And the reason the X713 mentions the word nwya (as the limiting word), more
than the others (either wa1 or NnX, which also limit the liability to only one person),
because 7nwy1 is the last limiting word in the 109, and they argue in this —

nMDoIN continues in a similar vein:*
= 9995 29N ARYYY 1IN PNYNY 23297 NONDINA VDI INNINT PNYY 139249 Y19 XD

And the "1 did not know why the X713 mentions in the view of w''9 the phrase,

‘an individual who did it is liable, etc. but two who did it are exempt’ -
= ANYPN NN AYIYN XD NI NN NYIYN 579907 NawrD VP XD

And the X713 did not mention the previous phrase (mentioned in the beginning of

this same Xn»72), ‘who does it entirely, but not who does only part of it’; why
change it to 121 271 ARWYW T —

mMooIN responds

' The 7109 (in 12,7 XP™) reads; QYR] 7Ppyn X2 WK M niven AR A0WY2 PIRG 0D 7302 XY NOX UH) OX).
2 The ®n>12 does not state explicitly which word excludes which particular case (12°X 737 ,212° 711 2127 737, an pw 7
2127 1R A1 91).
39"1 " agree that we exclude the first two (773 71 W 71 and 213° A1 91> 71); they argue what is excluded by the
third w3 (whether it is 9127 1°% 71 212° WX 731 [the view of w"1] or 7"°2 DX ARWYW 7°1° (the view of *"1]), therefore
presumably the third exclusion is derived from the third and last v1w°» in the 2109, namely nnwya. It was important for
"1 to cite nnwya for it is precisely regarding this w°» that he disagrees with *".
4 See ‘Thinking it over’.
3 Previously on the bottom of the '2 T1ny, the Xn>>12 reads ANXPA DX WA X2 7210 DX Awwa aMwya. We see that the
word nnwya is the word that excludes n¥pn 7wwi (one who does partly, because he is being helped by his partner).
" (at the end of the ®n*2) is using this word mnwya to exclude 913° an 912° 71, he should have used the same
exclusionary phrase as was used regarding nnwva in the beginning of this Xn>>12, namely DX AwIwn 891 7713 DR Wi
anEpn.
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$9999 929N 1Y 9199 999N N1 IDIAN 9910 ¥NIWN 1910V NINYYY D1IVT NIV NNYH
And perhaps the phrase U2 MRwWYw 2912 expresses better the exclusion even
in a case where %125 1°K 7111 912% 19K 77,

Summary
The last v in a P15 may correspond to the least logical v1¥°n. The exclusion of

212 111 9127 17 is better expressed by 2°wd MRWYW 0°3w, than by nngpn awwn RO

Thinking it over
Is the s""1 question (why change from 121 7nXpn WA XD to MRWYW 0°1w) connected
to what M0 mentions previously (why the X3 chose Imwy3),’ or not?

® The phrase AnNXpPR DX TWIWA X9 can just as easily mean 7731 7N P AT or 2127 7N 912 717 (as it seems from the beginning
of the Rn>3), etc. however the phrase MXwyw 1w indicates even if they both did the entire 75871 (meaning that
neither one is capable of doing it alone, as in the case of 127 1’ 711 7127 1% 117) and even then ¥"1 maintains that they
are Mua.
7 See footnote # 4.
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